Sunday, 9 March, 2025 10:13 AM

5-34. The gear motor can develop 3 hp when it turns at 150 rev/min. If the allowable shear stress for the shaft
is 12 ksi, determine the smallest diameter of the shaft to the nearest 1/8 inch that can be used.

5-34. The gear motor can develop 3 hp when it turns at
150 rev/min. If the allowable shear stress for the shaft is
Talow = 12 ksi, determine the smallest diameter of the shaft
to the nearest% in. that can be used.

T =
w
P= Wpy 550= 6% 4 1b/s
_ _ [Ep _Ex
by = MN—MXE"—&\M‘/F
- LS g b bt 12 =125 Lhih

SR

b .5 T ity

: i

12b2.5 1}.in
|

oo

1. = o5 Ik
Mﬂbé ]

Question Bank Page 1



Uhadk ot qwa*g/& &U@SWQQ %@& od A\ BV Wm

Wea_ ¥mpvo

T
R = 2 Conven| = 2 b IE}.’MH‘

noJ

R = J 'J AN 9o - e : Ih
7 B) -4 T_TW%% (260-5 th

—~  \ixeo ko5 1biin

(Lo T ()% 3

Sb\v\'hj for )| wieldy ) d = o8N ind, = ’;: inches

Cb*ﬁ

This problem was solved by Civil Thinking (https://civilthinking.com)
If you need solutions for Strength of Materials or any
other Civil Engineering subject, contact us at:
solutions@civilthinking.com

Or submit your problem directly here:

& https://civilthinking.com/getproblemsolutions

Other Subjects We Cover:

Structural Analysis

Fluid Mechanics

Geotechnical Engineering

Transportation Engineering

Construction Management

Finite Element Analysis (FEA)

Engineering Software (ANSYS, ETABS, MATLAB, Revit)
Let us help you solve your engineering challenges! £

Question Bank Page 2



NOTE:

The solution provided in this document is the intellectual
property of Civil Thinking and is protected by copyright.
Any reproduction, distribution, or publication of this
content, in whole or in part, is strictly prohibited without
prior written permission from https://civilthinking.com.
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